A 2NASHUESH

B ANAAY AW A (SUHYLM/ S - &)
Ol MZAT R MA(LRREEE) (el el
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
EPNEINESE— S 6,042,219 4,764,99% 1,277,224
= 1,349,198
Jl 585,000
= 4,108,021
ZAAIYE Ol ZUH Ao (sHN LM /5 - SE) 3,720,134 2,549,012 1,171,122
= 1,349,198
7l 585,000
= 1,785,936
M HEX MAHAXRASE) 2,742,488 1,614,313 1,128,175
= 1,349,198
Il 585,000
= 808,290
EE L FABMAH| XA (ZA)(=1) 1,349,198 1,351,120 A1,922
= 1,349,198
101 @12A4H| 424,198 443,700 19,502
= 424,198
M ORIMZZ2NSE S 424,198 443,700 19,502
OIS & S 212 424,198
= 424,198
201 2= 125,000 120,000 5,000
= 125,000
01 AtR2t2|HI 125,000 120,000 5,000
OMZ AT Hak Tt 125,000
= 125,000
206 M=l 800,000 787,420 12,580
= 800,000
01 MHZH| 800,000 787,420 12,580
OZAS & ASUL W=l 800,000
= 800,000
WNZA 2RSS - S 190,200 230,600 A40,400
201 2egr=3| 110,000 150,000 240,000
01 At2t2lt] 80,000 120,000 240,000
OMZ A Mo 2 X X ALK 20,000
OMZ A dat Sy 60,000
02 S3=gl 30,000 30,000 0
Oxtg & JIAEH ==X 30,000
202 04| 8,000 8,400 A400
01 2L 8,000 8,400 A400
OMZ A ot SsX 2 S| 8,000
204 Xt AH| 19,200 19,200
02 SLR3H 19,200 19,200
otel syl 50,0003 x32E « 12 19,200
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2A:

S ESH

2 0

B TN A USH (SRS L/ 5 - 55
CH2l: MZAH CHE A MAHZXRSE) (CH9: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
206 MH=HI 3,000 3,000
01 MZH| 3,000 3,000
OZ=AM & E2E=E N 2 3,000
401 AIZHIX R0 50,000 50,000
01 A28l 50,000 50,000
OMZAF B XA s22E dAEAH b 5,000
OMZ X THEH 2RX =22 SH=SH 1K+ 21,200
OMZ Xt THEH 2AX =22 | 3K+ 23,800
IBE - JIsd N dua2g 33,090 32,593 497
101 @124H| 22,070 21,573 497
04 JIZtNZ22 XS24+ 22,070 21,573 497
OQIIEE - JIsE M2 A datoI2AH| 22,070
201 et23y| 5,000 5,000
01 AtR2t2|HI 2,000 2,000
oMUY & JIEA=E =Al 2 2,000
02 s3=gHl 3,000 3,000 0
OIIBE - Jlsd MaX s HHIRX 3,000
202 04l 1,020 1,020
01 2LHoIH 1,020 1,020
OJIBE - JIsd NEX S5 +=#AH| 1,020
206 M=l 5,000 5,000
01 =4l 5,000 5,000
©p; IS4 MZA dak =4 5,000
SR =(21) 1,170,000 0 1,170,000
Il 585,000
= 585,000
401 AIEHIZ SR 0HYI 1,170,000 0 1,170,000
7l 585,000
= 585,000
01 Al&HI 1,170,000 0 1,170,000
o224 slliiet & dargety Jjd 1,170,000
Jl 585,000
= 585,000
WA MED 222 539,180 537,579 1,601
MN&EL 2el 84,380 83,792 588
101 21A4H| 26,260 25,672 588
04 JIZtN2Z2 XS 2+ 26,260 25,672 588
OMNF L el JIZ2HHl 22+ 2121H] 26,260
201 2= 53,000 53,000
01 At22telt] 13,000 13,000
OMNEL 2l 13,000
2 35234l 40,000 40,000 0
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A 2NASHUESH

A 22X Ao ZHY s (s LM /5Y - SE)
CHelr M2 HED 2229 EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OMED A4 & JIHEH |X2el 40,000
202 04l 3,120 3,120
01 =LHOHI 3,120 3,120
OMEL 2g2c| 0l 3,120
206 M=l 2,000 2,000
01 M=4l 2,000 2,000
OMELD A=%H S 2,000
N80 28 € RAES 454,800 453,787 1,013
101 @124H| 45,300 44,287 1,013
M ORIMZZ2NSE S 45,300 44,287 1,013
Odarzte] XIS QI 45,300
201 Ler23| 409,500 409,500
01 At2teltl 409,500 409,500
OTNESS o - 208 Ul 409,500
WAL dak & B5 17,150 20,150 A3,000
WAL ok 2 B2 15,650 18,650 A3,000
201 et 3| 650 650 0
01 AtR2t2|HI 650 650 0
OMZTt B2 SAAE R - E= 650
202 04| 15,000 18,000 A3,000
01 SLHoIH 15,000 18,000 /3,000
OMZ At a0 & SZEF = 15,000
HSEHA 2 1,500 1,500 0
301 EtE N = 1,500 1,500
1 BAREIXES 1,500 1,500
OMSsIH WS 4L 24 1,000
OMSHA HEXt=Sl BAX 24 500
M2 A & 25 10,630 1,770 A1,140
M2 A & 25 4,260 5,400 AT1,140
201 gt 900 1,000 A100
01 At22telt] 900 1,000 A100
OE=E NZX BAlE 22 & 7Y 900
202 04l 2,100 3,000 A900
01 =LHA LI 2,100 3,000 A900
OXZHAL & =UiZA S S8 0| 2,100
206 MH=H| 1,260 1,400 A140
01 M=4l 1,260 1,400 A140
225 NEX BAE s S 72 1,260
geldde 29 6,370 6,370
206 M=l 6,370 6,370
01 MHZHI 6.370 6.370
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2A:

ZASHUESA

M XA Ol WY UK = Lrb/ =Y - SF)
SR MZA BA R 2S EER=E)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
oHtoleA HEIE & HelHE MESE
- 6,370
A B2 410,686 365,200 45,486
A gX2el 377,050 335,400 41,650
201 L= 357,050 335,400 21,650
01 AFS2t2ltl 47,050 25,400 21,650
O&I| - A% S HE g2l =35 18,000
Ot AIAE A2 S| 7,000
Ol e SFA U= 400
OFA “=AIE FLAHHAIEH] 12,650
OXE AL XN Xt = 9,000
02 324l 310,000 310,000 0
OFA 2g2cl 310,000
406 JIEFXHZ01H 20,000 20,000
01 JIEtAH=01H 20,000 20,000
R ZAL KA 253 20,000
AR EB 2 HAHZE 2t 33,636 29,800 3,836
201 L2 33,636 29,800 3,836
01 AFR-2t2ltl 33,636 29,800 3,836
Oootd - 22| FFR A Y 18,236
ORI AAl 15,400
HY2SAHI(LNENESR) (DIEHIIEH 2,322,085 2,215,983 106,102
el 2 2,194,799 2,084,111 110,688
SR3 2A4d X 2,074,523 1,975,449 99,074
101 e124d| 2,074,523 1,975,449 99,074
01 2= 1,918,476 1,797,888 120,588
oJlzs 1,439,310
Ooss 1,349,727
-ASKl 274,734
= 8,202,500 1& 123 98,430
= 7,265,000« 1F 122 87,180
= (LBHDIH)
4,008,000 «1& 122 48,096
9= (LEHAIIMI)
3,419,000 12~ 12& 41,028
-k 1,074,993
6= 4,341, 7002 10~ 128 521,004
= 3,992,800 2~ 123 95,828
= 2,551,700 8~ 123 244,964
= 2,220,800 «8E « 12 213,197
ogz2+¢ 1,074,993,0002%1/12 89,583
o=x=g 197,586
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SN ANBHAEE
M HAHPAZH(ZXSKEER)(JIEH/IIE)
SERRIEESS(Y (Srol: &2
RA - BH - SHIEN) - HRAY - BAS ofl &t A HIDEZ
SEEEEES]
20,830,3002 4. 1%+ 12& 10,249
SpIERN 28,200
SN 40,0002 x20E « 128 9,600
NE 13,800
=M 30,0003 15« 128 5,400
=M 70,0002 x10H =122 8,400
-JIEDHE 20,0002 x20E « 128 4,800
OZ2xgHt= 21,360
-26E 0l & 130,000 x4 H 122 6,240
—20~25 01 8¢ 110,000& 5« 12& 6,600
-15~20&=0]¢et 80,0008 x2& » 122 1,920
-10~154 0] ¢t 60,0003 2 * 128 1,440
-5~10&018¢ 50,0002 x5~ 12 3,000
-5 0lgt 30,0002 6~ 12 2,160
OS+=A22+< 12,240
-SX 60,0003 *17H 122 12,240
OoRlgz2e=g 7,920
=35 50,000& *10H 128 6,000
-85 40,0002 x4 x 122 1,920
OS=ge=¢ 20,160
DlsdeEsYE 10,320
55 50,000 18 * 122 600
6~7= 30,000& 198« 128 6,840
892 20,0002+ 12F 122 2,880
AU =V 3,840
- JIAH 30,0003 x4 * 122 1,440
< SHADIAL 20,0002 x5~ 122 1,200
A 672 10,0003 x6H 123 720
- 28X 88 Olat
20,0003 =2 * 128 480
SN2 g 6,000
SRARG 100,000& x5 122 6,000
OAlteI22+E
11,6022 28254 2+ 123 97,457
OFNU=AHI 140,000 «34H 122 57,120
OYZE=Itd| 89,582, 7503 #6022 107,500
O It 4| 40,040
O Sl
22,894, 5002 *78%*80%+1/30% 13 6,655
O=ZH 89,582, 7503 *80%+1/30% 13 33,385
(OFESF= 1 e 76,920
O4=s 400,000& x1H 128 4,800
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2A: ZdNSHRER
I BISAAY| (ANBNTSH)OIEIIE)
s IEE2g] EER=E)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
Ob= 250,000& x 1+ 122 3,000
O6= 185,000 x 13+ 122 28,860
ors 180,000 x6F 122 12,960
0892 175,000 x13F 123 27,300
02 JIEt= 2 156,047 177,561 A21,514
oJlEs 115,311
Oo== 115,311
—“AIZHERTI DA 92,208
= 3,842,000 x2F + 122 R,208
5322 23,108
- 9= 1,925, 2002 1+ 122 23,103
o= 14,863
OJE= 3,120
A 40,0003 x2F 123 960
NE 720
- XM 30,000 =2« 12& 720
-J|EHE 20,0002 x6H«12& 1,440
OE=K22E 720
=Xl 60,0002 x1Z+12& 720
OEgR=g 4,061
S4Eeey 4,061
AZHAERT
47,157 0002 102 . 5%*84%+ 1/ 12+5%+2H » 122
4,061
OAlIZt2I224Y 6,962
“JIEHE AIZIRI 2R
11,6023 «2Y+25A| 2t 123 6,962
OFAHZ A 140,000 3% » 123 5,040
OZE St 9,609, 250 *60%*23| 11,532
OIS AU (L BHADIHI) 3,316
OAIZMEEHAIIH T
7,684,000 78%+*1/30%1/7*91 Al 2+ 2,598
O=532&
1,925, 2002 *86%+1/30* 13 718
OASEXH| 5,985
OAIZMIEHIZDIH T2
161,870 2+ 122 3,885
0892 175,000 x1H 123 2,100
SIIHAZ 2K} o1Ad] K& 120,276 108,662 11,614
101 2124t 103,865 93,901 9,964
03 SRH(RINHS) 22X 2+ 103,865 93,901 9,964
OJ|12=2 2,827,600 x2F + 122 67,863
o¥y=z+e 33,931,500 x2H *1/12 5,65
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SN ARBHEER
M HZYRAIH(LUSUHESE)(OIE/IIE
el e Eal (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OARIZIRR+Y
24, 500232 *20A 2+ 123 11,760
OAXRBEINEY
130, 7002 x2& » 13 3,39
(©mi=:] 100,000& x2&* 123 2,400
OE&=FOtl 2,827,600 x60+2 H*22] 6,787
(©F=Ets] 140,000 =2 * 12 3,360
OE=g 1,440
(OLIEN, 40,0002 =2+ 12 960
OJIEDE 20,0002 28 122 480
(OR R = 50,000& x2&* 122 1,200
M HA=FESS 16,411 14,761 1,650
04 SR (RIH )22 BEE=RES S 16,411 14,761 1,650
o=ggs JI& BEE= S 16,411
Jl=23sl 127,286 131,872 N4,586
FAM2E Jl=3Hl 76,286 73,172 3,114
201 et 3| 36,326 36,960 N6
01 AtR2tc|bl 35,846 36,480 AB34
ORAM2Y AtR22ld] 35,846
2 s3=234l 480 480 0
SAN2E SS23U 480
202 04l 21,420 17,672 3,748
01 =LHN LI 21,420 17,672 3,748
OFMEZ =0 21,420
203 =8| 11,940 11,940
01 J122geRFa| 3,300 3,300
oY 3,300,000& 3,300
02 HRAJMAHARFA| 1,440 1,440 0
OZ& = 40,0003 36 1,440
M EA2ER=A 7,200 7,200 0
©202! OloH(EIEH) 300,000& * 122 3,600
©202! OlcHHAZZE) 300,000 x 122 3,600
204 MR AH| 6,600 6,600
01 MM SR 6,600 6,600
oY 400,000 x1E~ 128 4,800
ox# 150,000& x 1= 123 1,800
gHe 29 51,000 58,700 AT7,700
201 er23 | 51,000 58,700 AT7,700
01 At2teltl 51,000 58,700 AT,700
0g - =3¢ 50,700
ogid 24| 300
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